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Constructions of possibility

““Moup + Infinitive”

Depending on the situation, we can use the constructions “moub + Imperfective

Infinitive” and “moub + Perfective Infinitive”. As usual, the choice depends

on what you intend to say and what where your focus lies — the process or the result.

4l Mory nucars.

I can write.

OH eI11é o4eHb 00JIEH U HE MOYKET
XOJIUTh.

He is still very sick and cannot walk

Kax1p1ii yestoBeK MOXKET
omuoaTbC.

Everyone may be mistaken.

5l He MoTy TIHCaTh.

I cannot write.

IIpenogaBaTesnb cKa3ai, YTO MbI
CBOOOJIHBI 1 MOYKEM HITU TOMOM.

The teacher said that we may leave now.

OCTOPOXKHO, 3TO TPYAHOE
YIPAKHEHUE, Thl MOKEIIIb
OIIHOUTHCS !

Be careful, this is a hard task, you can make
a mistake.

Table: Usage of “be + Infinitive” constructions.

Imperfective Imperative

+ MOKEIIb/MOXKET

Perfective Imperative

Kax i MokeT ommodaThbes..
JIromu MoryT XoauTh, KyJla OHU XOTSIT.

ThI MOKEIIBb ITMTH BCE, YTO Thl XOYECIIb.

+ MOXKelIb/MOXKeT He
(one is allowed not to do it).

JlupexTop ckazall, YTO Mbl MOKEM HE MPUXOIUTh

TaK paHo Ha padoTy.

ThI MOKEIIIb HE ITUTH TaK MHOI'O, €CJIM HE XO4YCIb.

OHa MOYET HE TOBOPUTH, ECIIH 3TO CEKPET.

OCTOpPOKHO, B 3TOM MPUMEPE Thl MOKEIIb

OIIIMOUTHCH.

Cmacu00, BBl MOJKETE UITH.

Tl HE MOJKEIIb BBIUTH BCIO OYTHUIKY OJUH!

+ He Moxkelb/MoxkeT (unable).

A ve Mory mpuiiTH 3aBTpa Ha pabdoTYy.

OH HE MOXKET BBINUTH 1ENTYI0 OyTHUIKY OJIMH.

OHa HEe MOXET cKa3arb TeOe ITO.



